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2. The inverse Laplace transform of the function 23S_137 is e4*(3cosBt — 7sinBt), where
§°+2s5+401 -
(A) A=-1, B=-20, (B) A=-1, B=20, (C) A=1, B=-20, (D) A=1, B=20, (E) A=2, B=30. ~
3. A genefal solution for the equation y'"''—6y"'+11y'—6y =3x is ae* + be?* + ce’* + % - % ,

where (A) A=3, B=2,(B) A=3, B=-2, (C) A=3, B=3, (D) A=3, B=-2, (E) none of the above.

4. Evaluate the volume of the tetrahedron defined by four vertices (1 0,-1), (3 0,2), (1,6 1),
(4,3,-1).
(A) 66, (B) 33, (C) 22 (D) 11,.(E) none of the above

5. The Fourier transform of the function f(x) = xe* does not include
(A) 2,(B)4,(C)6, (D)o, ().

6. Find the smallest positive integers m and n such that,.(\/_B_- + i).m = (1+ i)™, where -
(A) 1n=3, n=6, (B) m=6, n=12, (C) m=9, n=18, (D) m=12, n=24, (E) none of the above.

7. Integrate § t?nzl dz counterclockwise around the.C: ]z}z% The integral is
Z —_—

(A) 2z, (B) 27i, (C) 2w tan 1, (D) 2ni tan 1, (E) none of the above.

8. Find gﬁc (x? + 29)dx + (4x + y*)dy where C is the circle x% + y2 = 1.
(A) 27, (B) -2m, (C) 6m, (D) -6, (E)none of the above.
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9. The residue of the complex function f(z) = (z + 2)ez at z=0 is
(&) 112,(B) 1, (€) 312, (D) 2, (B) 5/2.

10. Fmd the analytic func‘uon f(z) = u(x y) + [ v(x y) where v(x y) = e 3*sin 3y
(A)—e~3%  (B) e~32, (C) —e®%, (D) €3, (E) none of the above.




